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Notei- Section |3 is compulsory. Atiempt any THREE (3} quesiions fom Sevtion C.,
(SECTION-B ,nw)

2. Write short answers te any SIX pads. (6x2=12) .Zéé." iz A Lazizedf 2
i Define surd and give an examp'e. .gf;da-déé..gﬁé,’zdi- i
i1 Fr) = o then find Pl), forr= 8and 7 = :'!12_ L Lo x= -_}%— Ar-87x Plr)=4a’ /idi

i 1te=5+2 thenfind 4~ A xie e x=512 /i

X X

iv. Factorze ¢ ta=3a’ =1 a*a=34-3: & U v
v. Fattorze ©—x-2 ¥-x=2 -«‘fd;? v
v.. Define remainder theoiem .éq,-?d\}g.v N

sit Fing H.G.F of 14a°be, 21ab’ by lactarization. -ffﬂ“’dﬂ'ﬁaéﬁf”a‘ ¢ 14a7bc, 21ab” yij

viii. Find L.C.M of 129’\1’. Bi‘:2q1"i by factorization, _ép‘“ A :.&Uih.b{-if;i | 1Zp!qz. B|:|’qrs il

ix Find tha squaro oot of 49x' 4112xy« 64y’ .ér)" v ¥ 40+ 112xy ¢80y i
3. Wrile short answers to any SIX parts. (§x2=12) Egewn ALy 3
L. Whalis selution or rool of an equation? Testelf e S L i
il Solve: Oy=3=3(2v=8) gr-3=0(2r — 8) 2 i
i, Solve: |2v-3]=5 |2¢-3|=5 : £ i
iv. Holve by using factonzation melhod: (2y+3) (v =2)=0 (2v+3) (=220 EF A 200 v
v. Sulve by using faclarization mathod x'=8-7x C=8-Tx -.“E.'"{_}"Lj;?_,g,,; i
vi. WYhatis franspose of a malnix? I fq.,.}l_.;;”n.};;[_-,.)w i

i Findy ar»d_}-lr[ ‘“33 - ’]J 5‘ [x_i':? g ;P_“4]=["-3? é-!;,‘iér}*’}.-,,fx il

[-:Ii _g][}!'! :ér!""-rﬁd"'i"'ﬁ viil

wiik. Findihemmixpmducl:[ 3 :'jji. 5]

N
ix  \Wiitn down Lhe givan malices in the form of finear equation: [_3 —%}[;J’i—ﬂ :‘E?;ﬂfégul..-ﬁ‘,_:mﬁzz_.) Jix
4. Write short answers to any SIX paris. (Bx2=12) £ Az A Langelt -4
i+ Write down the value of angle marked ‘b and write down o/en ol g.t;,-,fé' Aadbotid e i
whether Ihe angla is supplementary or complementary? : " P‘!jld,‘-d ';.4_1(
i Loak althe given figure and snswer the following quastions: 4 —-~-—.-':"ib ﬁ’-:nifhﬁ-'-li!l.imf ExFde i
(a) The pair of camerponding angles (b) Tha pair of vertical angles. B o 22 LG5 () eIl JE (2
i, Define paralielogram E o g i
w.  Define tangent of a circle, .é.ziém-'&.:.;u v
v. Find Ine hypolenuso of the right isosceios triangle sach of whoselegais " 17, " ww ﬂ.f__gr.‘aék}" ;,f,bﬁ':ﬂmgiv&b;;w R
¥l Delins area. _é_rfé,j, i
vii, Whatis the difierence belween cube and cuboid? fe} qu‘-la".,.ﬂ", __.-" i
viis, Write down the distance formula. .a" irg Mb viil
ix. Find Ihe dislance between (a, -b), (b, ~a) poir of poinls. -Fé,’!" bigile ndl(at,~b), (b, -a)3in Ix
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(SECTION-C /r.»)

Attempt any THREE quesﬁmm Each queslion carries Eight (4+4) marks. Y ] /(-1+4)ﬂ-f-dlr,—.£: chrLahrd s

s %’:;ﬂ;__ L bIML Y

4x’- xa® A

Rationalize: i
Ja+3 +va- 3

Factorize: 6447~ xa°

Find L.C.M by faclorizationt 041, x*ex®+1, (1)t 241, xex"+, (Prxri) et Jrowindf 2

o 2 x+5
Solve : (B FE l-ra'5 IH3 BFL G E ALY
4 5 6 4 5
Find two consecubive pasitive odd numbers such that sum of their sequence Is 74. )4__?4‘,,“{_;,-; f.ch_gf‘.}vjﬂju_.)f i
itd= [7 SJ B= ['& ‘3].then prove that (AB)'=B! (AB) =B'A* Al A= [% g] B= J:—l -3 g,-"
Solve the following equations by using matrix inverslon methoc: :&fﬂ,}’ e )l I # FUTilat il
3,\‘ - y='10| g = y-‘"},
S 2x + 3y=3

Construct @ triangle where each of ils side Is 5 om and draw its altitudes. -@I&ﬁjébﬂﬂlrﬁcmdﬁﬁ‘&é-hu‘}hg

Find the volume of right circular cylinder with circumferencas of . 37, . T o F s
hase 4 cm and aliitude 1 m. i 10l e r"‘LU’&r”’f"M G

Show that the points AC3, 1), B(-2, -3} and C(2,2) AL .,-;fl-'i S LG22 A BK-2-3)i0 ; é..-.gt-

are the verlices of an isosceles triangie.
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